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Solve the following triangles.
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3. Two boats leave the same port at the same time. Boat A travels at 20 mph in the direction
N35E and boat B travels at 35 mph in the direction N70W. In 3 hours, how far apart are the boats?
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4. A plane traveling at 500 mph due East for 1.5 hours changes course to N30E for 2 hours. How
far away is the plane from its starting point? What bearing should the plane head in order to
return to its starting point?
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5. Determine the area and the perimeter of the shaded region
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Use identities to fill in the banks.
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